
































































Trig. Equations


1.	Solve each of the following equations :


			(a)	


			(b)	


			(c)	


			(d)	



2.	Solve each of the following equations for     :



		(b)	



 (c)				(d)	



3.	Solve the equation      .



4.	Solve      .



5. 	The solution of the equation  ;  is
					A.	44o and 224o
					B.	44o and 104o
					C.	14o and 134o
					D.	224o and 316o


6.	The exact value of  is	

					A.	

					B.	

					C.	

					D.	



7. 	The solution set of the equation  for  is
					A.	30o and 60o
					B.	60o and 120o
					C.	240o and 300o
					D.	120o and 150o



8.	The solution set of the equation ;  are
					A.	{200o, 260o}
					B.	{20o, 80o}
					C.	{170o, 290o}
					D.	{110o, 300o}



9.	The solution set of the equation ;    is
					A.	{30o, 150o}
					B.	{60o, 120o}
					C.	{30o, 150o, 210o, 330o}
					D.	{60o, 120o, 240o, 330o}
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Higher Mathematics Notes Course Revision Notes

Trigonometry

Background Knowledge

You should know all of this, as it was covered in the Standard Grade course:
« SOHCAHTOA

sin x
COS X

e fanx =

2 2
esin“x+cos x=1

e Sine rule: — = .b =_°
sinA  sinB  sinC
2 2 2
e Cosinerule: 2 =b>+c¢"—2bccosA or cosA= %

o The area of a triangle, A =1absinC
o CAST diagrams

o Exact value triangles:

40
2/ 2/50°) ;3

45° ] 60° [
1 1

» Trigonometric graphs
y=sinx ) = Cos X y=tanx y=asinbx, etc.

Radians

e You should know how to convert between radians and degrees:

360°=271r 90° :% 45° :% Degrees —— 180 X &, Radians
Radians —<180 = @ Degrees
o o_T o_ T
180°=7  60°=7 30°=% 57 5x180 ..o
eg — = =150
6 6
Higher Still Page 9
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Trigonometry
Background Knowledge

You should know all of this, s it was covered in the Standard Grade course:
+ SOHCAHTOA

« sin’x + cos

+Sine rules

« Cosine rule:

+ The area of a wiangle, A

« CAST diagrams

+ Exact value trangles

2, 25005
45° 0 u}
T 1

« Trigonometric graphs
y=sinx y=cosx y=tanx y=asinb, etc

. I /.
| | rr

Radians

+ You should know how to convert benween radians and degrees:

o Degrees —=180 2, Raians

Radians —X180 £ 2, pegrees

180° = Sx _5x180 .
o 180y,

Notes s
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Trigonometric Equations

e Look at the restrictions, ie 0 < x<360°% or 0 < x< T

 Be aware of whether the answer is required in degrees or radians. Always work in
degrees and change the final answers to radians if required.

e Remember a CAST diagram, whenever you are asked to “solve...”

Examples
1. Solve 3sin*x=1, 0 <x<360°

3sin’ x =1
3(sinx )(sinx)=1
(sinx)’ =%

sinx = i\/%
v v
x = sinl(i %j S| A

VT lcv

x=35.3° x=180-353 «x=180+35.3 x=360-35.3
=144.7° =215.3° =324.7°

solutions = {35.3°,144.7°, 215.3°,324.7°}

2. Solve 2sin2x—-1=0,0<x<2x

2sin2x—1=0
2sin2x =1
PSS |
sm2x—2
(1) VS |AY
2x =sin 0
T|C
2x =230 2x=180-30
x=15° 2x =150
x=75°
2x =360+ 30 2x=360+180-30
2x =390 2x =510
x=195° x =255°
Higher Still Page 10
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Trigonometric Equations

« Lok at the restrictions, ie 0< x< 360°, or 0< ¥< 7

«Be aware of whether the answer s required in degrees or radians. Always work in
degrees and change the final answers to radians if required.

« Remember a CAST diagram, whenever you are asked to “solve.

Examples
1. Solve 3sin"x =1, 0 < x< 360°

Ssin'x=1
Hsinx)sinx)=1
Pl
(sins) =4

s

st}

=i {1

%2353 x=180-353 x=180+353 x=360-353
~144.7° =253 =347

solutions ={35.3°, 144.7°, 215.3°, 324.7°}

2¢=180-30
2¢=150
x=75°

20=360+30  2x=360+180-30

x=255°

Notes Honzaat
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o_ 157 o_ /om o_ 1957w o 255w
15 =130 75 =130 195 =180 255°= 130
_ 3 _ 15z _ 397 _Sln
" 36 T 36 T 36 T 36
w _Sm 13z 17z
12 12 12 12

solutionsz{ﬁ om 13w 177[}
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